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Types of Chemical Reactions

_ PartA

L

2.

(@ NaCl— Na+Cl,

A sjmthesis reaction starts with two reactants and ends up with one product. Which of the
following reactions are synthesis reactions? (Circle the letters) '

) NaCl- Na+Cl,

b) Na+HCl— H,+ NaCl

(CP H,+0,~» H,0 %

d) NaOH + HCI — H,0+ NaCl

&Y K +Cl —> Rl

A decomposition reaction starts with one reactant and ends up with two or more products.
Which of the following reactions are decomposition reactions? (Circle the letters)

b} Na+Cl, — NaCl
& HO - H,+0,
dy H,+0, - H,0

. e) NaOH + HCl — H,0+ NaCl

A single-replacement reaction starts with two reactants and ends up with two products. The
uncombined element takes the place of the combined element in the compound. Which of the
following reactions are single-replacement reactions? (Circle the letters)

a) NaCl— Na+Cl,

b) NaOH + HCI — H,0 + NaCl
&P K+ AgCl—> Ag+KCl

d) .Ca+8— Ca$

(& Na+HCl <5 H, + NaCl

4

A double-replacement reaction starts with two reactants and ends up with two products. In

- this case, both reactants are compounds and both products are compounds. They simply

change partners. Which of the following reactions are double-replacement reactjons? (Circle

~ the letters)

a) NaCl— Na+Cl, _
&Y NaOH +HCI — H,0+ NaCl
¢) Na+HCl~s H, + NaCl

@ KOH + HNO, ~ H,0+KNO,
) Ca+8—CaS




. PartB
- Write the balanced chernical equation for each reaction below. o

: 1 sodium +oxygen gas — sodium oxide
H!&o..‘*‘ D’L —7 LQO—LD O
2. ' ammonium+ﬂiﬁite —3 nitrogen gas +water
Aﬁ‘_\* A Q:”L_‘ = A‘L + ’LHQD D
"3. potassium chiorate — potassium chloride+ oxygen gas
LUCIDy — TUCN 3>, O
4 ' -hiaénesium+oxygen gas — magnesium oxide
| 7_%’\3 + Oq — L""‘)O O
| '5.. _magnesium oxide + water — magﬁesium hydroxide
\-?\,SD + WD — Hc)(b‘th_ D

6. aluminum+ hydrogen sulphate — aluminim sulphate + hydrogen gas

LA+ B0, 50, = AL (S3)g + 3 O
7‘ 7. ___?,‘opper + hydrogen nitrate — copper(Il) nitrate + nitrogen monoxide + water
V0o BWND, = 1RO Y LD + 1 wo O

8. chiorine gas+carbon tetrahydride — hydrogen chloride + carbon tetrachloride

LV, + Cwy —S Hac) —\-.C,C,\._\ D
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Part C
Balance each of the following reactions and then identi
decomposition, single-replacement, or double—replacement).

fy its type (synthesis, combustion,

\ Y =N \)ﬁ \LV\L\\ vx<] \ g =F * \1 ?Q‘Reaction Type

\_ca(on), _Lnci—_\_cacy,+ T HO

L CH,+ 150, _& co+ 'S H,0

LB+ Lxros \ 1, +_Lkpr

L cn,0+ 150, - 1= €0, + V~H,0

L 3 H,50, - _\ AL(s0,). +_ 3 H,

Lrer 3 a5 Lk,

..

DS

L Fecr,+_3 (NH,),$—_\_Fe,8,+_lo NH,CI
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